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ARITHMETIC PROGRESSIONS

Multiple Choice Questions

1. Sum of all first n terms of even natural

number is 2, 4,……2n:

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_JwkDMSqHOx5E


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

n(n + 1)

n(n + 2)

n2

2n2

2. IF a,b and c are in arithmetic progression,

then  is equal to:
b − a

c − b

https://dl.doubtnut.com/l/_JwkDMSqHOx5E
https://dl.doubtnut.com/l/_MWU25NtzgKDb


A. 

B. 0

C. 1

D. 2a

Answer: C

Watch Video Solution

b

a

3.  terms of the A.P x-7,x-2,x+3….. Is:

A. 

15th

x + 73

https://dl.doubtnut.com/l/_MWU25NtzgKDb
https://dl.doubtnut.com/l/_YxgHEgXaSd46


B. 

C. 

D. 

Answer: B

Watch Video Solution

x + 63

x + 83

x + 53

4. The value of  is:

A. 324

B. 361

∑ 18 + ∑ 19

https://dl.doubtnut.com/l/_YxgHEgXaSd46
https://dl.doubtnut.com/l/_nNEG3iAwB1B8


C. 703

D. 743

Answer: B

Watch Video Solution

5. IF an A.P., if , then the 

 term is:

A. 35

B. 10

S5 = 35 and S4 = 22

5th

https://dl.doubtnut.com/l/_nNEG3iAwB1B8
https://dl.doubtnut.com/l/_PNALwSPMLmW2


C. 13

D. 22

Answer: C

Watch Video Solution

6. The  term of 3,7,11,15,…… is:

A. 

B. 

C. 

nth

4n − 1

4n + 1

4n + 3

https://dl.doubtnut.com/l/_PNALwSPMLmW2
https://dl.doubtnut.com/l/_0SsEhAo3POLw


D. 

Answer: A

Watch Video Solution

3n + 4

7. In a sequence, if , then  is:

A. 

B. 

C. 

D. 

Tn+ 1 = 4n + 5 Tn

4n − 5

4n − 1

4n + 1

4n + 5

https://dl.doubtnut.com/l/_0SsEhAo3POLw
https://dl.doubtnut.com/l/_Oc6dotnKRkjP


Answer: C

Watch Video Solution

8. In an arithmetic Sequence, if ,

then is common difference is:

A. 6

B. 4

C. 2

D. 10

T4 = 8&a = 2

https://dl.doubtnut.com/l/_Oc6dotnKRkjP
https://dl.doubtnut.com/l/_Jto0HH5VgwTn


Answer: C

Watch Video Solution

9. In the A.P., the common difference is 3, first

term is 1, then its tenth term is:

A. 27

B. 29

C. 30

D. 28

https://dl.doubtnut.com/l/_Jto0HH5VgwTn
https://dl.doubtnut.com/l/_ofNg5lyViALD


Answer: B

Watch Video Solution

10. In the arithmetic progression

, then common

difference=

A. 3

B. 2

C. 3n

D. 2n

Tn+ 5 = 35 and Tn+ 1 = 23

https://dl.doubtnut.com/l/_ofNg5lyViALD
https://dl.doubtnut.com/l/_WAgg9iYyMDmb


Answer: A

Watch Video Solution

11. In an arithmetic Progression ,

then common difference is:

A. 1

B. 2

C. 3

D. 4

Tn = 3n − 1

https://dl.doubtnut.com/l/_WAgg9iYyMDmb
https://dl.doubtnut.com/l/_LGlRUGfBg5Jl


Answer: C

Watch Video Solution

12. Ramu marked a dot in first square, 2 dots in

second square, 3 dots in the third square and

so on. Then the total number of squares

required to mark a total of 55 dots is equal to:

A. 55

B. 11

C. 9

https://dl.doubtnut.com/l/_LGlRUGfBg5Jl
https://dl.doubtnut.com/l/_2XnH7QEtUrqM


D. 10

Answer: B

Watch Video Solution

13. Among the following, Arithmetic

Progression is:

A. 1,4,6……..

B. 10,12,14,……….

C. 35,30,25,…….

https://dl.doubtnut.com/l/_2XnH7QEtUrqM
https://dl.doubtnut.com/l/_ZoTSmjfZ3TL0


D. 8,13,19,……..

Answer: B

Watch Video Solution

14. In an arithmetic Progression the correct

relation is:

A. 

B. 

C. 

Tn− 5 = Tn− 4 + d

Tn− 5 = Tn− 6 + d

Tn− 5 = Tn + d

https://dl.doubtnut.com/l/_ZoTSmjfZ3TL0
https://dl.doubtnut.com/l/_VQUtcFfC06yE


D. 

Answer: A

Watch Video Solution

Tn− 5 = Tn − d

15. The sum of an arithmetic series with 15

terms is 180. Then the  term is:

A. 8

B. 12

C. 15

8th

https://dl.doubtnut.com/l/_VQUtcFfC06yE
https://dl.doubtnut.com/l/_AzHgyc8byzC5


D. 18

Answer: B

Watch Video Solution

16. IF  are in Arithmetic

Progression, then x is equal to:

A. 2

B. 3

C. 4

2x + 1, 4x, 13 − x

https://dl.doubtnut.com/l/_AzHgyc8byzC5
https://dl.doubtnut.com/l/_SLPpioFcYHy6


D. 5

Answer: C

Watch Video Solution

17. A person continuously places 3 marbles in

first box, 5 in second box,7 in third box, etc.

The number of marbles that he places in

sixteenth box is:

A. 66

https://dl.doubtnut.com/l/_SLPpioFcYHy6
https://dl.doubtnut.com/l/_T1s24tDXzD34


B. 33

C. 31

D. 35

Answer: C

Watch Video Solution

18. In the first minute Geeta climbs 15 steps of

a building. After that she climbs 3 steps less

than in the previous minute. The total number

of steps climbed by Geeta in 5 minutes is:

https://dl.doubtnut.com/l/_T1s24tDXzD34
https://dl.doubtnut.com/l/_oHvGPdiLMMXl


A. 75

B. 105

C. 45

D. 50

Answer: D

Watch Video Solution

19. In a Progression if  the fourth

term is :

Tn = 2n − 1

https://dl.doubtnut.com/l/_oHvGPdiLMMXl
https://dl.doubtnut.com/l/_CeUOLGc5B1V5


A. 23

B. 9

C. 5

D. 7

Answer: D

Watch Video Solution

20. The value of  is:

A. 10

10

∑
n= 1

n

https://dl.doubtnut.com/l/_CeUOLGc5B1V5
https://dl.doubtnut.com/l/_StqXa1oPC87Q


B. 11

C. 55

D. 110

Answer: C

Watch Video Solution

21. IF 1+2+3+………..+n=78, then the value of n is:

A. 13

B. 12

https://dl.doubtnut.com/l/_StqXa1oPC87Q
https://dl.doubtnut.com/l/_Qx33KyqiicGc


Very Short Answer Type Question

C. 11

D. 16

Answer: B

Watch Video Solution

1. What is the common difference between the

consecutive terms of an A.P.

Watch Video Solution

https://dl.doubtnut.com/l/_Qx33KyqiicGc
https://dl.doubtnut.com/l/_u5H8jXmNXGe9


2. If there an p terms in A.P. then what is the

 term from the end.

View Text Solution

nth

3. IF a,a+d,a+2d…….l is an A.P., then find the 

terms from the end l.

Watch Video Solution

nth

https://dl.doubtnut.com/l/_u5H8jXmNXGe9
https://dl.doubtnut.com/l/_qDJQixHOnWsX
https://dl.doubtnut.com/l/_A7qWsAnEHmYA


4. IF the sum of three consecutive terms of an

A.P. is 21, then first the first term.

Watch Video Solution

5. IF  term of an A.P. is n and  term is m,

then find  term?

Watch Video Solution

mth nth

pth

6. Find the sum of first n odd natural numbers.

https://dl.doubtnut.com/l/_mtG0Hio7wa2A
https://dl.doubtnut.com/l/_iA2MilajaVeL
https://dl.doubtnut.com/l/_fzmgmTYSUYao


Short Answer Type Question

Watch Video Solution

7. Find the sum of first n even natural

numbers.

Watch Video Solution

8. IF , then find .

Watch Video Solution

Tn = 5n − 2 S4

https://dl.doubtnut.com/l/_fzmgmTYSUYao
https://dl.doubtnut.com/l/_sUuvGRz3Jmk3
https://dl.doubtnut.com/l/_RmdYTSK3SgLM


1. How many two digit numbers are divisible by

3?

Watch Video Solution

2. Find the sum of the series 3+7+11+…..to 10

terms.

Watch Video Solution

https://dl.doubtnut.com/l/_tw8RKQeRjYnZ
https://dl.doubtnut.com/l/_KndB9RrY5LRW


3. Find the sum of all natural numbers

between 1 and 201 which are divisible by 5.

Watch Video Solution

4. Find the sum of all even natural numbers

from 2 to 40 by using the formula.

Watch Video Solution

https://dl.doubtnut.com/l/_BH3dnPAkZKVR
https://dl.doubtnut.com/l/_ILtlU8FopXiK


5. IF a,A,b are in Arithmetic progression, then

prove that .

Watch Video Solution

A =
a + b

2

6. In an Arithmetic Progression,

. Find the

Arithmetic Progression.

Watch Video Solution

T10 = 175 and T20 = 475

https://dl.doubtnut.com/l/_Yolpflu9leDr
https://dl.doubtnut.com/l/_tPeDdTrKm9ss


7. A person deposits Rs 1000 in the first

month. Then every month he increases the

monthly deposit by Rs 60. Use the principle of

progression and calculate his total investment

at the end of two years.

Watch Video Solution

8. Check whether 301 is a term in the A.P.

5,11,17,23….

Watch Video Solution

https://dl.doubtnut.com/l/_6OxrU61iq0qO
https://dl.doubtnut.com/l/_25ThamZ6DHrL


9. If 2,(x-1),4 are in Arithmetic Progression. Find

the value of x.

Watch Video Solution

10. IF 7 times the  term of A.P. is equal to 11

times the  term, prove that  term is

equal to zero.

Watch Video Solution

7th

11th 18th

https://dl.doubtnut.com/l/_25ThamZ6DHrL
https://dl.doubtnut.com/l/_nHI0YPYsZ5b3
https://dl.doubtnut.com/l/_IgYdtDe7tgyT
https://dl.doubtnut.com/l/_tnW5UYYoGVcL


11. There are 10 boxes on a table. Ramu places

4 marbles in the first box, 7 marbles in the

second box, 10 marbles in the third box and so

on. Find the total number of marbles placed in

all the boxes.

Watch Video Solution

12. Find the sum of natural odd numbers from

1 to 100.

Watch Video Solution

https://dl.doubtnut.com/l/_tnW5UYYoGVcL
https://dl.doubtnut.com/l/_RKf6mjSkirwA
https://dl.doubtnut.com/l/_idygl3CfaRf6


13. The sum of n terms of an Arithmetic

progression is . Find the first

term and the common difference.

Watch Video Solution

Sn = 2n2 + 6n

14. The middle term of an Arithmetic series

consisting of 25 terms is 20. Find the sum of

the series.

Watch Video Solution

https://dl.doubtnut.com/l/_idygl3CfaRf6
https://dl.doubtnut.com/l/_9BN7wzqFezev
https://dl.doubtnut.com/l/_xpLEKuCmNuVT


Long Answer Type Question I

15. In an Arithmetic progression,

 Find 

Watch Video Solution

Tn = 10 − 3n. S40

1. Find the sum of all natural numbers

between 200 and 300 which are divisible by 6.

Watch Video Solution

https://dl.doubtnut.com/l/_xpLEKuCmNuVT
https://dl.doubtnut.com/l/_4VTBNo6DGn9V
https://dl.doubtnut.com/l/_ahymrLC9HJ5d


2. The fourth and eight terms of an A.P. are in

the ratio of  and tenth term is 30. Find the

common difference.

Watch Video Solution

1: 2

3. The ratio of  to  term of an A.P. is .

Find the ratio of  to  term.

Watch Video Solution

7th 3rd 12: 5

13th 4th

https://dl.doubtnut.com/l/_ahymrLC9HJ5d
https://dl.doubtnut.com/l/_5Uo9rFviwlK6


4. In the  term of an A.P. is q and  term is

p, prove that the  term is equal to p+q-n.

Watch Video Solution

pth qth

nth

5. Find the four numbers in A.P. such that the

sum of  terms is 22 and the

product of  terms is 85.

Watch Video Solution

2nd and 3rd

1st and 4th

https://dl.doubtnut.com/l/_SM45UvgDVyeJ
https://dl.doubtnut.com/l/_3sDX7Zi0wEvA


6. Find the first four terms of a sequence of

which sum of n terms is .

Watch Video Solution

n(7n − 1)
1

2

7. The sum of 6 terms which form an A.P. is 345.

The difference between the first and last term

is 55. Find the terms.

Watch Video Solution

https://dl.doubtnut.com/l/_aL0yq7c0iD3X
https://dl.doubtnut.com/l/_5io3bM2vs163


8. A man deposited Rs 10000 in a bank at the

rate of 5% simple interest annually. Find the

amount in  year since he deposited the

amount and also calculate the total amount

after 20 years.

Watch Video Solution

15th

9. In an A.P. 

(a) IF a=-7,d=5 find  


(b) IF a=-1 , d=-3 find  


T12

T50

https://dl.doubtnut.com/l/_4D4v4kITfs70
https://dl.doubtnut.com/l/_R2sNI4yforvG


(c ) IF a=12,d=4  find n 


(d) IF d=-2  find a. 


(e ) IF a=13  find d.

View Text Solution

Tn = 76

T22 = − 39

T15 = 55

10. Find the sum of 

(b) -3,1,5……….to 17 terms.

Watch Video Solution

https://dl.doubtnut.com/l/_R2sNI4yforvG
https://dl.doubtnut.com/l/_IPhbXjgOhRCP


Long Answer Type Questions Ii

11. The angles of a triangle are in A.P. The

smallest angle is . Show that the triangle is

a right angled triangle.

Watch Video Solution

30∘

1. The sum of four consecutive terms which are

in an arithmetic progression is 32 and the

ratio of the product of the first and the last

https://dl.doubtnut.com/l/_kSnD3FypS5Rf
https://dl.doubtnut.com/l/_5HjwyKhzt8C2


term to the product to two middle terms is

. Find the number.

Watch Video Solution

7: 15

2. In an arithmetic progression of 50 terms,

the sum of first ten terms is 210 and the sum

of last fifteen terms is 2565. Find the

arithmetic progression.

Watch Video Solution

https://dl.doubtnut.com/l/_5HjwyKhzt8C2
https://dl.doubtnut.com/l/_hnDzQsKEb4Lw


3. Five positive integers are in A.P. The sum of 3

middle terms is 24 and product of first and

fifth term is 48. Find the terms of A.P.

Watch Video Solution

4. Find three consecutive terms in an

arithmetic progression whose sum is 18 and

sum of their square is 140.

Watch Video Solution

https://dl.doubtnut.com/l/_c1k4eSU1uC2i
https://dl.doubtnut.com/l/_rWzqFeXfPvG1
https://dl.doubtnut.com/l/_OyuxCM7KIIzo


5. The sum of three consecutive terms in an

arithmetic progression is 6 and their product

is 120. Find the three numbers.

Watch Video Solution

6. In an A.P. if the  term is -13 and the sum

of the first four terms is 24, what is the sum of

the first 10 terms?

Watch Video Solution

12th

https://dl.doubtnut.com/l/_OyuxCM7KIIzo
https://dl.doubtnut.com/l/_5jav0YVeH64k
https://dl.doubtnut.com/l/_cO08vSg5J8YT


7. The sum of three terms of an AP is 21 and

the product of first and third term exceeds the

second term by 6. Find three terms.

Watch Video Solution

8. In an A.P. whose first term is 2,the sum of

first five terms in one fourth the sum of the

next five terms. 

Show that . Also, find .

Watch Video Solution

T20 = − 112 S20

https://dl.doubtnut.com/l/_cO08vSg5J8YT
https://dl.doubtnut.com/l/_zAKM3y4Qy5qh
https://dl.doubtnut.com/l/_04cwjwT8Xmo4


9. The third term of an A.P. is 8. and the ninth

term of the A.P. exceeds three times the third

term by 2. Find the sum of its first 19 terms.

Watch Video Solution

10. The third term of an AP is 7 and the 

term exceeds 3 times the third term by 2. Find

the first term and the common difference and

the sum of first 20 terms.

Watch Video Solution

7th

https://dl.doubtnut.com/l/_04cwjwT8Xmo4
https://dl.doubtnut.com/l/_DQQmEiPuyKmS


11. The interior angles of a polygon are in A.P

.The smallest angle is  and common

difference is  . Find the number of the

polygon.

Watch Video Solution

120∘

5∘

12. An aritmetic progression consists of three

terms whose sum is 15 and sum of the squares

of extremes is 58. Find the terms of

progression.

https://dl.doubtnut.com/l/_zs7muMoUGSUd
https://dl.doubtnut.com/l/_HTlyuq44M6GC


Textbook Corner Exercise 1 1

Watch Video Solution

13. IF a A.P. if . Find .

Watch Video Solution

Tn = 4n + 3 S13

1. In which of the following situations, does

the list of numbers involved form an

arithmetic progression, and why? 

(i)The taxi fare after each km when the fare is

https://dl.doubtnut.com/l/_HTlyuq44M6GC
https://dl.doubtnut.com/l/_SxYJwQNnfaSH
https://dl.doubtnut.com/l/_Rg9U0IBa9PbG


Rs 15 for the first km and Rs 8 for additional

km. 

(ii) The amount of air present in a cylinder

when a vacuum pump removes  of the

air remaining in the cylinder at a time. 

(iii) The cost of digging a well, after every

metre of digging, when it costs 150 for the

first metre and rises by 50 for each

subsequent metre. 

(iv) The amount of money in the account every

year, when 10000 is deposited at compound

interest at 8 % per annum.

( )
th1

4

https://dl.doubtnut.com/l/_Rg9U0IBa9PbG


Watch Video Solution

2. Write first four terms of the AP, when the

first term a and the common difference d are

give as follows: 

(i)  


(ii)  


(iii)  


(iv)  

(v) 

Watch Video Solution

a = 10, d = 10

a = − 2, d = 0

a = 4, d = − 3

a = − 1, d =
1

2

a = − 1.25, d = − 0.25

https://dl.doubtnut.com/l/_Rg9U0IBa9PbG
https://dl.doubtnut.com/l/_qOT0t3cXC4XJ
https://dl.doubtnut.com/l/_AWouLGPfWR68


3. For the following A.P.s, write the first term

and the common difference. 

i]  


ii]  


iii]  


iv] 

Watch Video Solution

3, 1, − 1, − 3, …

−5, − 1, 3, 7, …

, , , , ….
1

3

5

3

9

3

13

3

0.6, 1.7, 2.8, 3.9, . .

4. Write of the following are Aps? IF they form

an AP, find the common difference d and write

three more terms. 

https://dl.doubtnut.com/l/_AWouLGPfWR68
https://dl.doubtnut.com/l/_G5qW6Z5yOZiI


... 


(iii)  


 


(v)  

 


(vii)  


(viii)  


 


(x)  


(x i)  


 


 


(i)2, 4, 8, 16......(ii)2, , 3,
5

2
7
2

−1.2, − 3.2, − 5.2, − 7.2....

(iv) − 10, − 6, − 2, 2....

3, 3 + √2, 3 + 2√2, 3 + 3√2....

(vi)0.2, 0.22, 0.222, 0.2222...

0, − 4, − 8, − 12...

− , − , − , − ....
1

2

1

2

1

2

1

2

(ix)1, 3, 9, 27...

a, 2a, 3a, 4a

a, a2, a3, a4.... .

(xii)√2, √8, √18, √32....

(xiii)√3, √6, √9, √12...

https://dl.doubtnut.com/l/_G5qW6Z5yOZiI


Textbook Corner Exercise 1 2

(x iv)  


View Text Solution

12, 32, 52, 72, ...

(xv) = 12, 52, 72, 73, ....

1. Fill in the blanks in the following , given that

a is the first term, d the common difference

and  the nth term of the A.P.

Watch Video Solution

an

https://dl.doubtnut.com/l/_G5qW6Z5yOZiI
https://dl.doubtnut.com/l/_8oog5x9iJVfb
https://dl.doubtnut.com/l/_bcFcDoqMUnXK


2. Choose the correct choice in the following

and justify: 

30th term of the AP: 10,7,4….. Is

A. 97

B. 77

C. -77

D. -87

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_bcFcDoqMUnXK


3. Choose the correct choice in the following

and justify: 

11th term of the AP :  ………is

A. 28

B. 22

C. -38

D. 

Answer: B

Watch Video Solution

−3, − , 2
1

2

−48
1

2

https://dl.doubtnut.com/l/_DdWvgUhWkVDh


4. In the following AP's find the missing terms

in the boxes. 

(i) 2.__________,26 

Let the missing term bex. 

(ii) ___________13, ___________,3. 

(iii) 5,_______,________,  


(iv) -4,_____,______,_______,_______,6.` 

(v) ______,38,_____,_______,________-22.

Watch Video Solution

9
1

2

https://dl.doubtnut.com/l/_mN1O3y8hwpdT


5. Which term of the AP : 3,8,13,18,… is 78 ?

Watch Video Solution

6. Find the number of terms in each of the

following APs : 

7,13,19,…205

Watch Video Solution

https://dl.doubtnut.com/l/_v8s6h7BjGnSm
https://dl.doubtnut.com/l/_dHoLOGefM6S9


7. Check whether -150 is a term of the AP : 11, 8,

5, 2

Watch Video Solution

8. Find the 31st term of an AP whose 11th term

is 38 and the 16th term is 73.

Watch Video Solution

https://dl.doubtnut.com/l/_EPKqODXPMRwo
https://dl.doubtnut.com/l/_7KeluVSIG9Fr


9. An AP consists of 50 terms of which 3rd

term is 12 and the last term is 106. Find the

29th term.

Watch Video Solution

10. If the  and the  terms of an AP are 4

and -8 respectively, which term of this AP is

zero ?

Watch Video Solution

3rd 9th

https://dl.doubtnut.com/l/_ZV8WCl7tY81V
https://dl.doubtnut.com/l/_wEqBZL9Sv9GZ
https://dl.doubtnut.com/l/_5mn5ICQQpMrG


11. The 17th term of an AP exceeds its 10th

term by 7. Find the common difference.

Watch Video Solution

12. Which term of the AP : 3, 15, 27, 39, …. Will

be 132 more than its  term ?

Watch Video Solution

54th

https://dl.doubtnut.com/l/_5mn5ICQQpMrG
https://dl.doubtnut.com/l/_bALs89s9ayeM


13. Two APs have the same common difference.

The difference between their  terms is

100, what is the difference between their

 terms ?

Watch Video Solution

100th

1000th

14. How many three digit numbers are divisible

by 7?

Watch Video Solution

https://dl.doubtnut.com/l/_eEhj1BhtOPom
https://dl.doubtnut.com/l/_TqNbRNmmjSEC
https://dl.doubtnut.com/l/_LX7KoxBVpafe


15. How many multiples of 4 lie between 10

and 250 ?

Watch Video Solution

16. For what value of n, are the  terms of

two APs : 63, 65, 67,… and 3, 10, 17,… equal ?

Watch Video Solution

nth

https://dl.doubtnut.com/l/_LX7KoxBVpafe
https://dl.doubtnut.com/l/_9CeiKj2Wv9Nv


17. Determine the AP whose third term is 16

and the 7th term exceeds the 5th term by 12.

Watch Video Solution

18. Find the  term from end of the

sequence 3,8,13 …… 253.

Watch Video Solution

20th

https://dl.doubtnut.com/l/_kStgk5uBwOgo
https://dl.doubtnut.com/l/_OJxNAx88NAFG


19. The sum of the  and  terms of an AP is

24 and the sum of the  and  terms is 44.

Find the first three terms of the AP.

Watch Video Solution

4th 8th

6th 10th

20. Subba Rao started work in 1995 at an

annual salary of Rs.5000 and received an

increment of Rs. 200 cash year. In which year

did this income reach Rs. 7000 ?

Watch Video Solution

https://dl.doubtnut.com/l/_qFIse1bkjQYK
https://dl.doubtnut.com/l/_i5Qg1DJLRuRe


Textbook Corner Exercise 1 3

21. Ramkali saved Rs.5 in the first week of a

year and then increased her weekly savings by

Rs. 1.75. If in the  week, her weekly savings

become Rs. 20.75, find n.

Watch Video Solution

nth

1. Find the sum of the following APs : 

2,7,12,…to  terms.10th

https://dl.doubtnut.com/l/_i5Qg1DJLRuRe
https://dl.doubtnut.com/l/_8uU7t7mABwwJ
https://dl.doubtnut.com/l/_ZrtudQR9KZgN


Watch Video Solution

2. Find the sums given below : 

(i)  

(ii)  


(iii) 

Watch Video Solution

7 + 10 + 14 + ……. . + 84
1

2

34 + 32 + 30 + …. . + 10

−5 + ( − 8) + ( − 11) + ……… + ( − 230)

https://dl.doubtnut.com/l/_ZrtudQR9KZgN
https://dl.doubtnut.com/l/_LXHZg0PFu4N1


3. In an AP: 

(i) given a=5, d=3, , find n and . 

(ii) given  find d and  

(iii) given , find a and  


(iv) given , find and . 


(v) given d=5,  and a and . 

(vi) given , find n and 

. 

(vii) given . find n

and d. 

(viii) given  find n

and a. 

an = 50 Sn

a = 7, a13 = 35, S13

a12 = 37, d = 3 S12

a3 = 15, S10 = 125 a10

S9 = 75 a9

a = 2, d = 8, Sn = 90 an

a = 8, an = 62, Sn = 210

an = 4, d = 2, Sn = − 14,

https://dl.doubtnut.com/l/_VyDz0d3pYzGr


(ix) given  find d. 


(x) Given  and there are total 9

terms find a.

Watch Video Solution

an = 3, n = 8, Sn = 192,

l = 28, s = 144

4. How many terms of the AP:9,17,2…. Must be

taken to give a sum of 636.

Watch Video Solution

https://dl.doubtnut.com/l/_VyDz0d3pYzGr
https://dl.doubtnut.com/l/_cHWaSSeGna95


5. The first of an A.P is 5, the last term is 45

and the sum is 400. Find the number of terms

and the common difference.

Watch Video Solution

6. The first and the last terms of an A.P are 17

and 350 respectively. If the common difference

is 9, how many terms are there and what is

their sum ?

Watch Video Solution

https://dl.doubtnut.com/l/_L9G6Jp5FqSla
https://dl.doubtnut.com/l/_fPBOwbhTHbgr


7. Find the sum of first 22 terms of an A.P in

which d = 7 and 22nd term is 149.

Watch Video Solution

8. Find the sum of first 51 terms of an AP

whose second and third term are 14 and 18

respectively.

Watch Video Solution

https://dl.doubtnut.com/l/_fPBOwbhTHbgr
https://dl.doubtnut.com/l/_kC6arxdkm967
https://dl.doubtnut.com/l/_fPO00EALJyOP
https://dl.doubtnut.com/l/_zEFap1MK44hu


9. If the sum of first 7 terms of an A.P is 49 and

that of 17 terms is 289, find the sum of first n

terms.

Watch Video Solution

10. Show that  form an A.P

where an is defined as below : (i) 

(ii) . 


Also find the sum of the first 15 terms in each

case.

Watch Video Solution

a1, a2, …. , an, …

an = 3 + 4n

an = 9 − 5n

https://dl.doubtnut.com/l/_zEFap1MK44hu
https://dl.doubtnut.com/l/_360SbMIjpaEB


11. IF the sum of the first n terms of an AP is

, what is the first term (that is )?

What is the sum of first two terms? What is

the second term? Similarly, find the 3rd the

10th and the nth terms?

Watch Video Solution

4n − n2 S1

12. Find the sum of the first 40 positive

integers divisible by 6.

Watch Video Solution

https://dl.doubtnut.com/l/_360SbMIjpaEB
https://dl.doubtnut.com/l/_eRCEwh9OtDPk
https://dl.doubtnut.com/l/_BQABF6VwODtN


13. Find the sum of the first 15 multiples of 8.

Watch Video Solution

14. Find the sum of the odd numbers between

0 and 50.

Watch Video Solution

https://dl.doubtnut.com/l/_BQABF6VwODtN
https://dl.doubtnut.com/l/_DMXlYYhKIKru
https://dl.doubtnut.com/l/_GLB7Lo5ISIgA


15. A contract on construction job specific a

penalty for delay of completion beyond a

certain date as follows : Rs. 200 for the first

day, Rs.250 for the second day, Rs. 300 for the

third day, etc., the penalty for each succeeding

day being Rs. 50 more than for the preceding

day. How much money the contractor has to

pay as penalty, if he has delayed the work by

30 days ?

Watch Video Solution

https://dl.doubtnut.com/l/_begXublQ5Hqx
https://dl.doubtnut.com/l/_GBDjQI0LIeRh


16. A sum of Rs. 700 to be used to give seven

cash prizes to students of a school for thir

overall academic performance. If each prize is

Rs. 20 less than its preceding prize, find the

value of each of the prizes.

Watch Video Solution

17. In a scholl students thought of planting

trees in and around the school to reduce air

pollution. It was decided that the number of

tress, that each section of each class will plant,

https://dl.doubtnut.com/l/_GBDjQI0LIeRh
https://dl.doubtnut.com/l/_xkegTckCNuDf


will be the same as the class, in which they are

studying, e.g., a section of Class I with plant I

tree, a section of Class II will plant 2 trees and

so on till Class XII. Three are three sections of

each class. How many tress will be planted by

the students ?

Watch Video Solution

18. A spiral is made up of successive

semicircles, with centres alternately at A and B,

starting with centre at A, of radii 0.5 cm , 1.0

https://dl.doubtnut.com/l/_xkegTckCNuDf
https://dl.doubtnut.com/l/_qi5Rev7tEyKF


cm, 1.5 cm, 2.0 cm,… as shown in Fig. 54. What

is the total length of such a spiral made up to

thirteen consecutive semicircles ? (Take

) 


Watch Video Solution

π =
22

7

19. 200 logs are stacked in the following

manner : 20 logs in the bottom row, 19 in the

https://dl.doubtnut.com/l/_qi5Rev7tEyKF
https://dl.doubtnut.com/l/_lnOUaM8ZXPbW


next row, 18 in the row next to it and so on. In

how many rows are the 200 logs placed and

how many logs are in the top row ?

Watch Video Solution

20. In a potato race, a bucket is placed at the

starting point, which is 5m from the first

potato, and the other potatoes are placed 3m

apart in a straight line. There are ten potatoes

in the line (fig.). 

 


https://dl.doubtnut.com/l/_lnOUaM8ZXPbW
https://dl.doubtnut.com/l/_LMSnMn4DbhjY


A competitor starts from the bucket, picks up

the nearest potato, runs back with it, drops it

in the bucket, runs back to pick up the nest

potato, runs to the bucket to drop it in, and

she continues in the same way until all the

potatoes are in the bucket. What is the total

distance the competitor has to run ? [Hint : To

pick up the first potato and the second potato,

the total distance (in metres) run by a

competitor is ]

Watch Video Solution

2 × 5 + 2 × (5 + 3)

https://dl.doubtnut.com/l/_LMSnMn4DbhjY


Textbook Corner Exercise 1 4

1. Which term of the AP: 121,117,113……. is its first

negative term?

Watch Video Solution

2. If the sum of first term of an A.P is 49 and

that of 17 terms is 289. Find the sum of first "n"

terms. 

OR 

The sum of the third and seyenth terms of an

https://dl.doubtnut.com/l/_8NIfMODeGjkn
https://dl.doubtnut.com/l/_FUoIuzyfWQ0L


AP is 6 and their product is 8. find the sum of

first sixteen terms of the A.P.

Watch Video Solution

3. A tadcler has rungs 25 cm apart . The rungs

decrease uniformly in length from 45cm at the

bottom to 25 cm at the top . If the top and the

bottom runs are  m apart , what is length

of the wood required for the rungs ?

Watch Video Solution

2
1

2

https://dl.doubtnut.com/l/_FUoIuzyfWQ0L
https://dl.doubtnut.com/l/_Dolrmh1gJnVs
https://dl.doubtnut.com/l/_2Dx59qSePDci


4. The houses of a row are numbered

consectively from 1 to 49. show that there is a

value of x such that the sum of the houses

preceding the house numbered x is equal to

the sum of the numbers of the houses

following it. Find this value of x.

Watch Video Solution

5. A small terrace at a football ground

comprises of 15 steps each of which is 50m

long and built of solid concrete. 

https://dl.doubtnut.com/l/_2Dx59qSePDci
https://dl.doubtnut.com/l/_oDPG6CRDhOE9


Each stop has a rise of  m and a tread of 

m calculate the total volume of concrete

required to build the terrace.

Watch Video Solution

1/2

1/2

https://dl.doubtnut.com/l/_oDPG6CRDhOE9

